LA BB RSB 20 2 5

EZERWEBRELZE
wg [7B+88+(7H
EEEEW |~88)] IAKWEE |BEB1ER  #5 |8H1ER - &5 |8E2E8 - %
NEREE E HEFHE0 - B |BW7AEBAY (BWSEEBAY (FW7A 8%*“ EERHEYE
Fo |EZEETE B SR E SR+t £ Bm LR LR AN LR HRK? HhiRAFEE Ek
ailthEeE P INFEEE25
1 [E#EZ#ESF gR118 = 2 1 1 2 &
1058dtmiALLE N\ =4
2 |EHER E%9181-15% = 2 2 2 2 &
1085 thEBEESFI
3 |BZRER 205% = 2 2 2 0 &
2357 bHm P E L4456
4 |EERRES i = 1 1 1 1 S RESANERHBRE
5140138/ L Z#SEBZ K ZEAR - HwRA
11 |FERES F53E%3885% = 1 0 0 1 = AHBWEE
BEERERRKIEE
600-007= &M A E R BERIMU =&ML ERBHXE gBZL
12 [ShZEF 2755% = i 1 1 0 & BFEBEN
71268 EE R EE
13 REF(HEIE) [116-35% = 4 2 2 0
7226@mHEEREXEE 2(RINEBE1uEEEY
14 |KEBEF 17658 = 7~8EEH) 1 1 1
[REmm =0 P H
7418mHmE{EREPAE3 B51085% - B3R &M
15 |ShiREEfF i = 1 1 1 1 & =
7178mH L EEPIEE
16 |HNEER E%4685% = 1 1 1 1 &
7108 KEERABED
17 |BLERF EER5975E = 2~3 0 0 2~3 S
7098 MM ZmM B AL A
18 |BR/REESS 983 = 1 1 1 0 2
19 [RggEgzz BEmEZEE 3145 = 2 2 2 2 S
701EmMm R & B #£147156- HEBERBEEE2
20 |EERcEEREEF AR = 1 0 0 1 2 1S
21 [BRER AEmEERFEE1345 = 1 1 1 1 =

Page 1



LA BB RSB 20 2 5

EZERWEBRELZE
wg [7B+88+(7H
EEEEW |~88)] IAKWEE |BEB1ER  #5 |8H1ER - &5 |8E2E8 - %
NEREE E HEFHE0 - B |BW7AEBAY (BWSEEBAY (FW7A 8%*“ EERHEYE

Fo |EZEEHE B SR E SR+t £ Bm LR LR AN LR HRK? HhiRAFEE Ek
7045mmitE A EE701

22 |BRERF i = 2 1 1 0 &
7046t NERE &

23 |#FREF 3365k = 1 0 0 1 =
7046mmibE X B 299

24 |BHRERZEBF i = 1 1 1 0 &
704478 mitlE RER R

25 [BFRER T Eg215% = 2 2 2 2 &
7008mHmPAERREE=

26 |HEzF E&285%% = 1 1 1 1 ES
SRR EERA138

27 |HHEKEES i = %2 1 1 1 =
SR EEEE6S

28 |BHZERF i = 4 2 2 0 = BHELIRMERE
807=ETh —RIBHHEE

29 |BBEEES 42-15% = 2 1 1 2 = BEREEE
807E M =—REBEIE

30 |NZEF 54558 = 7 88E28,H47 2 2 4 & i
go7TsHm_RE+E_K FEOBRBFEIRER

31 |AZRNEF 3235% = 2(7~88) 2 2 2 = EEBY
go7TsHm_RE+E2—K

32 |SHZERF 875k 2 2(RNEE1MIHEE) 0 0 1 ES BEREETE2ER
804 SgEmE LB L=

33 [chEZ[F FR48-115% = 2 2 0 0 2
SEMEIIEPE—FK72

34 |FEBER i = 1 1 1 1 2

35 |EFHEF SHEMEIESEK418%% = 1 1 1 1 2 gEH A AER
SEMmIEEKE B

36 [EEEF 203-15% = 1~2 0 0 1~2 =

Page 2




VAR R KRR 2 A

wEERNZEBREEE
wg [7B+88+(7H
EAS ~88)] MAKREE |EZ1ER - EB1ER - EE2@A8 -
E&%ﬁxﬁ‘“ E HSFEE0 . @ 35@517%%:%)\%1 T%E”QBEETJA%Z BW78 8%*“
ik |ZEBEETE 2 [5 BRI & 5% + 3 4k £ Bm LR LR NEEBR HithzR AR Esk
1.1%31(13:00-21:00)
8025 B HEIEFE =4
37 |AMEF 180-65% 2 0 2B RMBE
2(KNEB1s#ET7
38 |ILREFMRIE SEHEREMREISNE BEZ) 1
EfRENZE S (R
39 |&) SEMSEER B35 1 0
8305 M Bl LLE A=
40 [ERZES 2055% = 2 0
8305 M B LLE=F—F8
41 |ABEF(EFE) |1215% = 2 2
8305 MM B LESEE
42 [IEREEFTIE E%3675% 1 0 LB N EE
43 |ANEF(RER) 900 RER M MFZIE54-15% 1 1 =
BB E114%F2H27H1E
AREE . BPEFMERR - BRBA/BREBANHMKEE @ ZIHKXEBA AEREIFNEL

Page 3




